THSE 4AH XEE

A B |[ZHESR HE2RUVAR b 3as] X HEE (M)
4H208 B [KPEREREE TSHRZEROEBEE~TH T 5,000
485 XZHEE 5,000

SHSE 5 XEE
BB |[ZHESR HE2RUAR Xk X HEE(H)
5H12H B |BMTERERESRE MEMtHWEKOEXEE~TH £ 5,000
5A7 XHEE 5,000

SHSE 68An XEE
AH |[ZHES HE2RUVAR Xk X HEEE (M)
6H30H B |BfFTPRBYEEHIREHESESE ANERREE~ATH E£E 5,000
6An XHAG 5,000

SHIE 7HHn XREE
A B |[ZHESR HEZRUVAR Xk ZHEEE(H)
7H28| #E) |[2021FFEKBEZEILEERFMRITESEYE 021 FERFMRITHERXNEETRES 3,000
7138 FH |xhESEE BAKEXRKEE~TH E£E 10,000
7H138| #HR |BMEEFEREHDFESHLESEFRESXEERIGREME FI#¥ra EE R E e 20,000
7H198| FHE |[TAFTEMSEEE afiRXEKEE~ATH B 5,000
7R XHAEE 38,000

THSE 8AR XEH

AB |ZHEHS HERUVAR Tk THEEE (M)
8H17EB| BE |MRSYDOEHZY RIS 6,600
8H XHAE 6,600

THSE 9An XKE

AB |ZHESRS HE2RUVAR Xk X HEE(H)
9fn XZHAEE 0

SHISE 10AH XKBE
A B |ZHES HE2RUVAR Xk THE£E (M)
10A9n XZXHEE 0

SH3E 1185 KBE
A B |[ZHER HE2RUVAR X%k THE&EE (M)
1A% XHAS 0

SH3E 1285 XBE
AB |ZHES HE2RUVAR X5 XHEE(H)
1289 XHAH 0

SHAE 185 XREE
A B |ZHES HE2RUVAR Tk THEE (M)
189 XHEE 0

SHAE 2Bn REE
A B |[ZXHER HRERURNE Tk X HEEEA)
2B XZHEE 0

SHA4E SHAHn REE
A B |ZHES HE2RUVAR X H % FHEEE (M)
3A138| FE |[AMHERYREHER RABHRFEE~TH ®'E 5,000
3R XHEE 5,000
FHEEE 350,000
XA 64,600




